CS 44 – Specifying reduce actions
I want to go over one more example of bottom-up parsing.  This time, it will be with a grammar for variable declarations:
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Here are the states of the machine.  At this point, you should be familiar with how to generate the sets of items.  Let’s focus our attention on the reduce actions.  For each “reduce”, we need to figure out 3 things:

1. what variable is being reduced

2. on what input we should reduce (this will be the follow of the variable)

3. how many states do we need to backtractk (this will be the # of symbols  on the right side of the item)
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Looks like a reduce, but this is a special case of “accept.” 
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(We are reducing variable ____ on input _____.  Go back ___ states.)
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(We are reducing variable ____ on input _____.  Go back ___ states.)
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(We are reducing variable ____ on input _____.  Go back ___ states.)
